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Introduction
This contribution provides scenario and issue description to support service continuity for slicing in TR 38.832. 
Text proposal for TR 38.832
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<<<<<<<<<<<<<<<<<<<< START OF CHANGES >>>>>>>>>>>>>>>>>>>>
6	Study necessity and mechanisms to support service continuity
[bookmark: _Toc47448852]6.1	Scenario and issue description
Editor Note: capture the description of scenario and issue.

The following two scenarios are considered to support service continuity.
Scenario 1: Slice resource shortage in case of Intra-RA mobility and Inter-RA mobility


Figure 1 Service interruption for slice resource shortage
As shown by Figure 1, the UE’s ongoing slice(s) is/are supported by both the source and the target NG-RAN node. At the time of handover, the target node fails to accept the UE with at least one of the indicated S-NSSAIs due to e.g. high slice-related load at the target node. Under such circumstance, the service(s) for failed ongoing slice(s) is/are interrupted for the UE.
In this scenario it shall be considered that a slice has a Radio Resource Management policy associated to it as specified in TS28.541. If this slice has no more available “dedicated” resources in a target cell, the target node will try to admit the slice services within resources that are “dedicated” for other slices or “shared” between slices. The study shall analyse the implications of slice remapping in these conditions, e.g. 
the remapping of a slice to the re-mapped S-NSSAI, may create an issue of overload in the re-mapped S-NSSAI. 

Scenario2: Non-supported slice in case of Inter-RA mobility


Figure 2 Service interruption for slice not supported
As shown by Figure 2, the UE is moving toward an area that does not support at least one of UE’s ongoing slices. Under such circumstance, the service(s) for failed ongoing slice(s) is/are interrupted for the UE.
The scenario contemplates the possibility where, when the UE leaves the area, the service is continued in a degraded or non-optimal mode in order to avoid the interruption of service. 
[bookmark: _GoBack]In such condition, it should be considered that a slice is supported within a RA because the operator has an SLA to support the slice in that geographical area. The study should clarify whether, if a well defined SLA is in place, the slice services could be available also outside the allowed RA. 

[bookmark: _Toc47448853]6.2	Solutions 
Editor Note: Capture the solutions for the scenario and issue.

<<<<<<<<<<<<<<<<<<<< END OF CHANGES >>>>>>>>>>>>>>>>>>>>
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